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RO/ARO- G.S. TEST PAPER-3

Consider the following statement:

1. When a stream leaves the mountains and descends to
the plains, its velocity increases due to the lower
gradient.

2. Natural levees are low-rise elevations on both banks of a
river.

‘Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are Correct?

1. Estuaries are partially enclosed coastal areas containing
brackish water.

2. Alagoon is a body of seawater separated from the sea
by a reef, which is made up of rocks and sand.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. The mangroves of Bhitarkanika are the second largest in
the Indian subcontinent.

2. Mangroves Avicennia marine, Avicennia, and
Rhizophora are found primarily in the Gulf of Kutch
and the Kori Creek

‘Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c)Both 1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are Correct?

1. Karst is a landscape composed of limestone that has
been degraded by dissolution, resulting in towers,
fissures, sinkholes, and other features.

2. Sometimes stalactite and stalagmite combine together to
form a whole pillar known as the column.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. Saltation is the movement of very fine and medium
sands by wind in a series of bounds and leaps.

2. Finger-like rills appear on cultivated ground after sheet
erosion.

‘Which of the following statements is/are Correct?

(a) 1 Only (b) 2 Only

(c) Both1 &2 (d) Neither 1 nor 2
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10.

Which of the following statements is/are Correct?

1. A Piedmont Glacier is a mass of ice that has drifted
downslope towards low-lying plains.

2. Valley Glacier is also known as Alpine Glacier.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. Plateaus occur in a third of the earth's land

2. The Deccan Plateau is bordered by two mountain ranges
western and eastern ghats.

‘Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Which of the following statements is/are Correct?

1. The place at which the energy is released is referred to
as the focus or hypocentre of an earthquake.

2. Primary waves are so named because they are the fastest
of all seismic waves.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. Secondary waves, often known as S-waves, are also
known as transverse waves, shear waves, or distortional
waves.

2. The body waves interact with the surface rocks, creating
a new set of waves known as surface waves.

‘Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are Correct?

1. The Mohorovicic (Moho) discontinuity separates the
crust from the asthenosphere.

2. The lithosphere is the earth's rigid outermost layer, with
a thickness ranging from 10-200 km.

Select the correct code given below:

(a) 1 Only (b) 2 Only

(c) Both1 &2 (d) Neither 1 nor 2

11. Which of the following is the composition of Outer Core?

(a) Iron and Nickel

(b) Iron and Magnesium
(c) Nickel and Magnesium
(d) Silica and Aluminium
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12.

13.

14.

15.

16.

17.

18.

19.

20.

Which of the following describes the thickness of the crust?
(a) 5-70 km

(b) 70- 100 km

(c) 110-200 km

(d) 200-300 km

Which of the following seas divided the Pangea into two
landmasses Laurasia and Gondwanaland?

(a) Tethys Sea

(b) Arabian Sea

(c) Caribbean Sea

(d) Barents Sea

‘Which of the following does not give the Indirect Source of
information about the Earth’s Interior?

(a) Gravitation

(b) Magnetic Field

(c) Seismic Wave

(d) Earth Mining

‘Which of the following is the Old Fold Mountain?
(a) The Himalayas

(b) Aravali Hills

(c) The Alps

(d) The Andes

Which of the following is the largest crater lake in the
world?

(a) Lake Toba

(b) Lake Superior

(c) Lake Huron

(d) Lake Victoria

Which of the following intrusive volcanic landforms
solidifies almost perpendicular to the ground?

(a) Dyke

(b) Sills

(c) Laccolith

(d) Phacolith

‘Which of the following is the longest continental mountain
in the world?

(a) The Andes

(b) The Rockies

(c) Cascade Range

(d) Great Dividing Range

Which of the following is the highest point of the Atlas
Mountains?

(a) Toubkal

(b) Mount Blanc

(c) Manaslu

(d) Lhotse

‘Which of the following is not a major plate?
(a) Eurasian Plate

(b) Pacific Plate

(c) North American Plate

(d) Nazca Plate
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21.

22.

23.

24.

25.

26.

‘Who came up with the Richter Scale?
(a) Charles F. Richter

(b) Fajarowicz

(c) Gedeon Richter

(d) Wilbur Wright

Which of the following is the result of the deposition of
fragment rocks?

(a) Igneous rock

(b) Metamorphic rock

(c) Sedimentary rock

(d) Extrusive Igneous rock

Which of the following does not belong to the Igneous
Rock?

(a) Granite

(b) Gabbro

(c) Basalt

(d) Shale

‘Which of the following does not belong to the Metamorphic
Rock?

(a) Marble

(b) Schist

(c) Slate

(d) Dolomite

‘What is the active region of the extratropical cyclone?
(a) 35° and 65° Latitude

(b) 0° Latitude

(c) 90° and 60° Latitude

(d) 70° and 80° Latitude

Match List-I with List-IT and select the correct answer using
the codes given below the lists:

List-1 (Tide) List-I1

A. Semidiurnal Tide 1. Two high and two low

tides each day.

B. Diurnal Tide 2. One high and one low

tide.

C. Mixed Tide 3. It occurs twice a month.

D. Spring Tide 4. Tides have variations in

height.
ABCD
@1 2 4 3
b1 4 3 2
©4 2 3 1
@1 3 2 4
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27. Match List-I with List-II and select the correct answer using
the codes given below the lists:

List-I (Volcanic List-IT
Ejects)
A. Tephra 1. All shattered ejects from the
volcano.
B. Lapili 2. Gravel-sized particles that can be
molten
C. Tuff 3. Solid ejects in the shape of
boulders.
D. Blocks 4. Volcanic dust and ash
layer.
ABCD
@12 4 3
b)1 4 3 2
©4 2 31
@13 2 4

28. Match List-I with List-II and select the correct answer using
the codes given below the lists:

List-I (Fluvial List-IT
Erosional Landform)

A. Hydration 1. The movement of the origin
of a stream channel away from
the direction of the stream flow

B. Corrosion 2. Chemical activity that causes
Weathering
C. Attrition 3. When river load particles

collide and break down

D. Headward Erosion | 4. Force of rushing water
wearing down rocks

ABCD
@12 4 3
® 14 3 2
©42 3 1
@13 2 4
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29.

30.

31.

32.

Match List-I with List-IT and select the correct answer using

the codes given below the lists:

List-I (River Valley List-II ()
Formation)
A. Gorge 1. Deep and narrow V-shaped
valley
B. Canyon 2. Enlarged form of gorge

C. Lateral Erosion

3. Waterfall.

D. Vertical Erosion

4. Stream wall erosion

ABCD
@1 2 4 3
b1 4 3 2
@©4 2 3 1
@1 3 2 4

Match List-I with List-II and select the correct answer using

the codes given below the lists:

List-1 (River)

List-1I

A. Consequent
Rivers

1. Rivers that run in the general
direction

B. Obsequent River

2. This river moves in the
opposite direction.

C. Antecedent
drainage

3. It cuts deeper into the existing
landform.

D. Superimposed

4. Follows the same path as the

Drainage: freshly developed landform.
ABCD

(@12 4 3

®b)1 4 3 2

@42 31

@13 2 4

How many Biodiversity hotspots exist in the world?

(a) 34
(©) 35

(b) 30
(d) 36

Consider the following statements:

1. Major community depends only on the sun's energy.

2. Minor communities are secondary aggregations within
a major community and are completely independent
units.

Select the correct statements from the codes given below:

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2
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33.

34.

35.

36.

37.

38.

39.

Consider the following statements, with reference to
Sulphur Cycle:

1. The sulphur cycle is completely sedimentary.

2. Atmospheric sulphur dioxide is carried back to the earth
after being dissolved in rainwater as weak sulphuric acid.
Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Select the correct answer from the following:

1. Melting of polar ice caps and subsequently rise in the sea
level is the most important effect of global warming.

2. The sea level is likely to rise by one metre by 2070 AD if
the present level of global warming is not controlled.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Where is the secretariat of the Conference on Biological
Diversity?

(a) Montreal

(b) Toronto

(c) Italy

(d) London

‘Which of the following is least likely to be an effect of global
warming?

(a) Decreased rate of photosynthesis in vegetation

(b) Increased frequency of hurricanes

(c) Shrinking of the polar ice regions

(d) Loss of fertile delta region as for agriculture

Consider the following statements, in the context of

TRAFFIC:

1. Itis ajoint programme of WWF and UNEP.

2. It works in collaboration with Convention on
International Trade in endangered species of wild Fauna
and Flora.

‘Which of the above statements is/are NOT correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Upper part of sea/aquatic ecosystem contains
(a) Plankton

(b) Nekton

(c) Plankton and Nekton

(d) Benthos.

In an ecosystem, which one shows one-way passage
(a) Free Energy

(b) Carbon

(c) Nitrogen

(d) Potassium
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40.

41.

43.

45.

46.

47.

The relation between algae and fungi in lichen is
(a) Symbiosis

(b) Parasitism

(c) Commensalism

(d) Protocooperation

‘Which of the following is the dominant grass of the Savanna
biome?

1. Lemon grass

2. Star grass

3. Red oats grass
4. Rhodes grass
Codes:

(a) 1and 2 only
(b) 2 and 3 only
(c) 1,2 and 3 only
(d 1,2,3and 4

Which of the following gases has the greatest greenhouse
effect?

(a) Chlorofluorocarbon

(b) Methane

(c) Nitrous oxide

(d) Sulphur Hexafluoride

With which of the following is Stockholm Convention
related to:

(a) Protection of Ozone layer

(b) Nuclear weapons

(c) Persistent Organic Pollutants (POPs)

(d) Biosafety to the Convention on Biological Diversity.

‘Which is the respiratory organ of silverfish?
(a) Pharyngeal gills

(b) Trachea

(c) Skin

(d) Book lung

‘Which of the following is the main constituent of Biogas
after Methane?

(a) Oxygen

(b) Hydrogen

(c) Carbon dioxide

(d) Ammonia

Which of the following is not a method to calculate the
Gross Domestic Product (GDP)?

(a) Product method

(b) Diminishing cost method

(c) Income method

(d) Expenditure method

India has been National
Consumers' Day.

(a) 24 December

(b) 22 May

(c) 22 April

(d) 20 March

observing as the

40.

41.

42.

43.

44,

45.

46.

47.

TS § AaTeT 3R chaeh & S deu g
(a) wEsta

(b) w=ehifaar

(c) TgifSar

(d) TeIRISTaRRA

f=fafea d @ o ar garm T & ugE a1y §?
1. d=T T

2. U9

3. | I8 919

4. A O™

&is:

(a) dhaat 1 3R 2

(b) a2 3k 3

(c) haar 1,23k 3

(d)1,2,33R4

FAe=fafed d 9 fg 49 o Mgk vy 999 3ifds 82

WihgH srde Refafad & @ frad d&fia @
(a) 7SI URd T T=efor

(RGN EREIN

(C) TR et Tgueh (POP)

(d) Sta fafaear o e & forg Sta gre|

fOrceRIther & g 3T g AT 8?

H19 & STe ST I I Tk A # @ i 91 8?
(a) SiferftsrT

(ONESEE]

(OEICERESICEIES

(d) 3mifaar

fmfafea § @ o denet TR IUTE (GDP) & 70T & el
fafdr a8 &2

(a) I fafe

(b) et @ fafy

(c) 3ma fafdr

(d) =g fafar

IRd I A It feaw & T H 7ATT @7 B
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48.

49.

50.

51.

52.

53.

54.

55.

Dairy and Apiculture comes under which sector of
economic activity?

(a) Primary sector

(b) Secondary sector

(c) Tertiary sector

(d) None of these

Name the curve which shows the number of products a
seller wishes to sell at a given price level.

(a) Demand curve

(b) Cost curve

(c) Supply curve

(d) None of these

Wage fund theory was propounded by
(a) J.B. Say (b) J.S. Mill
(c) J.R. Hicks (d) J.M. Keynes

All of the goods which are scarce and limited in supply are
called

(a) Luxury goods

(b) Expensive goods

(c) Capital goods

(d) Economic goods

Which one of the following is not included while estimating
national income through the income method?

(a) Rent

(b) Mixed incomes

(c) Pension

(d) Undistributed profits

‘Which of the following would not constitute an economic

activity in Economics?

(a) A teacher teaching his own daughter at home

(b) A teacher teaching student in his college

(c) A teacher teaching student in a coaching institute

(d) A teacher teaching student Under Sarva Shiksha
Abhiyan Scheme

In the view of Redfield and Singer, the process of primary
urbanisation is characterised by the development of a:

(a) Folk tradition

(b) Great tradition

(c) Elite tradition

(d) Little tradition

Assertion (A): In India, the increase in crime has gone up
with an increase in urbanisation and industrialization.
Reason (R): Industrial-urban economy causes family and
cultural disorganisation. Select the correct answer from the
codes given below:

Codes:

(a) Both A and R are true and R is the correct explanation
of A.

(b) Both A and R are true but R is not the correct
explanation of A.

(c) A is true, but R is false.

(d) A is false, but R is true.

48.

49.

50.

51.

52.

53.

54.

55.

2T 3R TeparRdt ure anfifes nfafafdy & fora & & siarfa
JATAT 8?

3G Igh T ATH T4 St I TS ht Teat gifdr & g fashar
foreht &g 77 Hog TR R 9T A8 81
(a) AT gk

a1 PR Rigia foraes grr ufaunfeq feram mar ar?
(a) &g

(b) Siu A

(c) SHoTR feer

(d) StuH S

3 Foft Ty STt gefer SfR Smgff & WfAd &, wgard! &
(a) faenfaar & am=
(b) HET AEH
(c) Ysfird M=
(d) 3nfefer I

3T UG & ATead § AET ST T SMhald hid IHT
fafafea & 9 @ ar anfae T8t forar sirar 82

(a) T

(b) fafeg sma
(c) 9=

(d) srfaaRa ary

fRafafea & @ o erfurer 7 snffes nfafafar gt ghf?

(a) Ueh fR1e1eh Srat gt S ol UeT I@T § ;R W

(b) Tk f187h 3107 hieteT & BT &l UeTdT &

(c) T fAeten wifEin T & o & TeT |1 8

(d) Tt fRre Srf AT TS & dgd ST aht e dTell Ueh fA8Teh

Tethics iR R & far & wrafde edecor it ufskar
fafafaa & e & Ritvar &:

(a) <R TRRT

(b) HEM WRuT

(C) Pei TRORT
(d) B TRoRT

qMET (A): 9Rd #, Ugdaeur SR SffeifieRor 7 gfg & ary
R A g g8 81

FRUT (R): Sfenfiie-2gd sreferawn uiRaRe sk dipfds
farerest &1 R ST B

=2 g 7y e & T W T

s

(a) A 3R R a1 g § 3R R, A &1 T8l Tusteor g1

(b) A 3R R giF1 T & &ifh R, A T Tt Teieheur 81 81
() AT g, Afh R s 81

(d) A 3T g, AfhT R T g1
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56.

57.

58.

59.

60.

61.

According to the 2011 Census, how many million cities are
there in India?
(a) 35
(c) 56

(b) 46
(d) 53

According to Census 2011, which of the following

statements about Uttar Pradesh are correct?

1. The district with the lowest literacy rate is Shravasti.

2. The district having the highest sex-ratio is Deoria.

3. The district having the lowest density of population is
Lalitpur.

4. On the basis of Nagar Nigam area population, the most
populous city in the State is Kanpur.

Select the correct answer using the code given below:

(a) 1and 2

(b) 1and 3

(c)1,2and 4

(d)2,3and 4

The concept of 'Marginal Man' was propounded by:
(a) Robert E. Park

(b) Robert Redfield

(c) Louis Wirth

(d) Louis Dumont

Following are the subjects of Trade-Related Intellectual
Property Rights related to trade:

1. Trade Marks

2. Industrial designs

3. Geographical Indications

4. Labour Standards

Choose the NOT correct answer from the given codes:
(a) 2 and 3 only

(b) 4 only

(c) 3 only

(d) 1, 2 and 3 only

With reference to Asian Infrastructure Investment Bank
(AIIB), consider the following statements:

1. Headquartered of AIIB in Beijing.

2. Chaina is the largest shareholder in AIIB.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements:

Assertion (A): Odisha is called the Ethiopia of India.
Reason (R): Its hallmarks are excessive infantile mortality
and malnutrition.

Select the correct answer using the codes given below:
Codes:

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A).

(c) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.

56.

57.

58.

59.

60.

61.

2011 &Y FIUMT & SR 9Ra # fhda fafer wer 8?2
(a) 35

(b) 46

(c) 56

(d) 53

STTUAT 2011 o AR SR U & aR A Ffafea 7 & &
1 YT Gl 67?

1. oY HH HIERAT &R aTeT Sl sradt 81

gaffdres feimrgura arer forer SaRar 81

I A SHEAT G- aTelT el dAfeld R 8|

TR AT &5 & YR WR ST & IR I5Y Al
affden ST aTe A6 FHEYR &

12 g 7Tq e a1 IURT ek e IR A

13k 2

Eal

AT AT I AR fhgdh gRT wfauifed &t g of:
a) AT 3. urh
b) 3feé Yethies

R 9 Jefdd Sifge duer siffer & fawg fAefafea &
1. ¢ HRe

2. 3fenfien Temea

3. fiifeies Goha

4, 9H AR

s d § 7Te0d SR A ¢

(a) Thaet 2 3R 3

(b) haet 4

(c) haet 3

(d) dhaer 1, 2 3R 3

URITH ShRgeRR Saedic da (AIIB) & deof &, Fefafad
HY R R &

1. AIIB &1 qEared S & g1

2. = AIIB ¥ ga9 9T JWRYURS 1

IR T M Yl F T i 91/ 9t &/8?

(a) Shaet 1

(b) Shaet 2

(c) 1 3R 2 &t

(dyssat1 3R 2

fafafed sy R AR &9 wAF (A): Nif2m &) R o

Ao ST ST 8

@RI (R): 39! Uga™ Srafdes fAY geg & SR FHuiwor &1

=2 g 7Tq Fle &1 IUTNT ek T IR A

@S

(a) &1 (A) 3R (R) T & 3R (R) (A) T T TETR0T 8

(b) (A) 3R (R) g1 g €, Afh (R) (A) & Tt Wt
Tl 8l

(c) (A) T<a g, fd (R) 3T g1

(d) (A) 31T §, Afh (R) TT 1
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62.

63.

64.

65.

66.

67.

68.

To establish public EV charging stations, how many crore
rupees has the central government approved?

(a) 700 crores

(b) 800 crores

(c) 900 crores

(d) 600 crores

‘Who has been chosen to lead the New Development Bank
(NDB) going forward on March 24, 2023?

(a) Dilma Rousseff

(b) K. V. Kamath

(c) Marcos Prado Troyjo

(d) Amitabh Kant

In the region of Bundelkhand, how many solar parks have
been approved overall?

(@) 6

(b) 7

© 9

(d) 8

PM Modi opened the Regional Office of Innovation and the
International Telecommunication Union (ITU) in which
city?

(a) New Delhi

(b) Bangalore

(c) Mumbai

(d) Bhopal

Which nation has the highest level of happiness in the
world, per the World Happiness Report 2023?

(a) Finland

(b) Denmark

(c) Switzerland

(d) Japan

Regarding the "Call Before u Dig" mobile application,
which of the following claims is accurate?
1. It is an initiative of the Department of
Telecommunications, Ministry of Communications.

2. Every year, losses resulting from disorganised
excavation and digging total almost Rs 1500 crore.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements about the Union Home
Minister's proposed Sharda Peeth corridor is/are true?

1. The Neelum Valley in Pakistan-occupied Kashmir
(PoK) is home to the Sharda Peeth.

2. Travellers to the Sharda Peeth corridor will be able to
enter without a visa.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

62.

63.

64.

65.

66.

67.

68.

gresifaen EV Aot R RO &ea & AT dhg, TR 7 fohat
Fe TN Y TR 82

(a) 700 #Is

(b) 800 IS

(c) 900 s

(d) 600 IS

24 919 2023 @l g 3TATHE Feh (NDB) T A e & folg
fRe g T 82
(a) feem =8w

PM #EY 7 fohar <1eR & g1ae o1 et sraferg ik siaRfgia
TR T (ITU) @rer?

(a) 73 feeett

(b) SR

() gs$

(d) ~frarer

s vo=ar RUtE 2023 & o9, fay & fore 31 & urar ar
TR 999 3HfAH 8?2

(a) eI

(b) S7HTH
(c) SRS
(

d)Grrq%r

"&hict faImR g fe" Alarse gfeidhe & dey #, ffafeaa &

¥ P 91 Ry éleh 67

1. O HOR HATET & qXHAR a1 Y Uk ugd 8l

2. &R I IHAfRT I@ 3R @aE T Gl a9 1500
IS TUY T I ™ BT Bl

12 &g 7Tq Fls &1 IUTNT ek Tt IR A

(a) dheet 1

(b) et 2

(c) 1 3R 2 gt

(d)aat1siRagr2

FHEIT 78 HAAT & TRATiad ARaT ! iR & IR 7 FAEfafed

7 3 o9 91/3 huT 9T &/8?

1. UIfhEd™ & heot aTel ¥R (POK) H e a1é) & smRer
s 8l

2. Rel fis hiReR & gl fomr dierr & uaer o gt |

(a) dhaet 1

(b) haet 2

(c) 18R 2+t

(d)yTFar1sikas2
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69.

70.

71.

72.

73.

74.

75.

Regarding the India-Bangladesh Friendship Pipeline

(IBFP), which of the following assertions is/are true?

1. From Siliguri in North Bengal to Parbatipur in the
Dinajpur district of Bangladesh, the IBFP is laid.

2. It is the first cross-border energy pipeline connecting
India with its neighbours, the India-Bangladesh
Friendship Pipeline (IBFP).

Select the correct answer using the codes given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

In how many states will PM Mitra Mega Textile Park be
established?
(a) 07
(c) 06

(b) 08
(d) 09

Where was "AgriUnifest" inaugurated by the Union
Agriculture Minister?

(a) Bengaluru

(b) New Delhi

(c) Lucknow

(d) Mumbai

Which nation imports the most weapons globally,
according to a report by the Stockholm International Peace
Research Institute?

(a) Saudi Arabia

(b) Qatar

(c) Australia

(d) India

How many states are included in the agreement that India
and the World Bank inked to build the Green National
Highway Corridor Project?

(a) 05

(b) 06

(c) 07

(d) 04

In terms of the World Air Quality Index, where does India
stand in terms of pollution?

(a) 8th

(b) 9th

(c) 5th

(d) 6th

In relation to VSHORADS, which of the following claims
is/are true?

1. A man-portable Air Defence System (MANPAD) is
called VSHORADS.

2. Short-range low-altitude aircraft threats are neutralised
by the missile.

Select the correct answer using the codes given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

69.

70.

71.

72.

73.

74.

75.

IRA-FiTeeT 3t uTgueTs (IBFP) & Teiy #, Fmfafea d 4

& I1/8 HYT T &/8?

1. IO S & RS & Ao TR & AR it &
e figR ek IBFP fTe 78 21

2. Ug YR ! 39 USHAA} § S areft ugedt Hiar ur St
UTISUTS, YRA-siTeAesr &5t urguers (IBFP) &1

12 g 7Tq Fe 1 IUTHT ek e IR A

(a) Thaat 1

3
i
%
3
|
|
:
7
4

£

) STTgE
b) 7E =t

WidhgH sexeHd Uie Rad s&iaye &t g Ralé & arguR,
I 1 3L fasy TR R e 31fdah g YR smara &ear 82

(a) T SRS

(b) &hax

(c) siteforar

(d) ¥R

YR R Yy den F A A2t g€ SRSk ulRatsrHr & Fafor
& fory st gesiar favar & Sod faham wreg anfae &2

(a) 05

(b) 06
(c) 07
(d) 04

I arg TUTaNT YEdich & TUR YR UGWUT & AT F fohg
WH W §?

(a) 8af

(b) 9at

(c) 5af

(d) Ba1

VSHORADS & dey #, f=fafea 8 @ o9 a1 gar a7 §/82

1. AG-UIEse drg &7 uutelt (MANPAD) @t VSHORADS
gl ST &1

2. HA G & HA SIS aret A & TRl ot Aamse grr
TR R T SIar B

=2 g 7Tq Fle &1 IUTNT ek T IR A

(a) dhaet 1

(b) haet 2

(c) 1 3R 2 &t

(dysat1 3R 2
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76.

77.

78.

79.

80.

81.

82.

Regarding the "Women Icons Leading Swachhata" (WINS)
Awards 2023, which of the following statement(s) is/are
true?

1. On International Women's Day, the Ministry of
Housing and Urban Affairs (MoHUA) announced the
WINS Awards 2023.

2. Through the Swachhatam Portal, entries for the awards
will be chosen.

Select the correct answer using the codes below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Regarding the E-Waste (Management) Rules, 2022, which

of the following statement(s) is/are true?

1. The March 1st, 2023 implementation date of the revised
E-Waste Management Rules of 2022.

2. The third-largest producer of electronic garbage (e-
waste) worldwide is India. during the 2021-2022 fiscal
year.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which woman is the first female loco pilot of the Vande
Bharat Express?

(a) Avani Chaturvedi

(b) Surekha Yadav

(c) Shreya Ghodawat

(d) Aditi Chauhan

‘Who has been named the ambassador of the "She Changes
Climate" project in India?

(a) Shreya Ghodawat

(b) Mira Nayak

(c) Shivi Chauhan

(d) Anushka Sharma

The "Har Payment Digital" mission was started by whom?
(a) Punjab National Bank

(b) Bank of India

(c) State Bank of India

(d) Reserve Bank of India

Where in Jammu and Kashmir's district did the army raise
the largest "Iconic National Flag"?

(a) DODA

(b)) BUDGAM

(c) KATHUA

(d) POONCH

Which aircraft carrier is serving as the host for the 2023
Naval Commanders' Conference inaugural event?

(a) INS Vikrant

(b) INS Shardul

(c) INS Chennai

(d) INS Vijay

76.

77.

78.

79.

80.

81.

82.

"l DT A e aTell Afget Udier" (Sfid) qRERR 2023

& gey F, Frafafea § § &9 a1 s 9w 8/8?

1. SR Afeer Raw W, smam ofk W8 AT & Harer
(MoHUA) = WINS 3rar€d 2023 i aiuor &

2. TBdM™ Uidd & H1eH § QRERRI & foig ufafeat &1 o=
fomam ST

12 g 7Tq Fe 1 IUTHT ek e IR A

(a) e 1

(b) et 2

() 1 3R 2 &t

(d)yFat13Rag2

g-3ufAw (veie) fam, 2022 & &y d, Refafea § @ aF

1 HYF I &/8?

1. GNfRd $-arufAe yde fRaw 2022 &Y srriae fafd 1
A, 20231

2. gfar R F selaeien e (3-3aRT) ot TRt 9ed 981
IdTEeh RA &1 2021-2022 fa<fia avf & kM|

(a) Faat 1

(b) eheret 2

(c) 132t

(dysat1fRag2

¢ YR Uy hl Ugell Al dileh! UThele - T Afge &2
(a) saf agadr

(b) g area

(c) 2 SigEd

(d) sifefa e

WRd A "2f AT FergAe” uRAISTHT 1 Asied fohd fAgerd femar
T 8?

(a) S "tsTad

(b) =T TR

(c) ffa =g

(dl) argeent et

SH-heHR & fohd et & I91 3 T w7 "ufafda agi st
TRERTT?

(a) ster

(b) ST

(c) sgs

(d)9®

I T fAmTaTge Wd 2023 F8HT RIS o AT & IgeT
JHRIE & AT & ®U § 1 o 36T &7

(a) SMSTAYH fashid

(b) ST e

(C) JATSTALH =8

(d) emguey fasm
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83.

84.

85.

86.

87.

88.

89.

In relation to the Samudrayaan mission, which of the
following statements is/are true?

1. Three people will be sent in the "MATSYA 6000"
vehicle to a depth of 3000 metres to investigate deep-sea
resources like minerals.

2. By 2026, the objective is anticipated to be accomplished.
Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Regarding the Aravalli Green Wall Project, which of the
following assertions is/are true?

1. It is a goal of the Union Environment Ministry to
establish green lanes all around the nation.

2. Haryana, Rajasthan, Gujarat, and Delhi are all included
in the project.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which city's Rudrakash Convention Centre hosted the
"One World TB Summit," which was addressed by Prime
Minister Narendra Modi?

(a) Bengaluru

(b) Varanasi

(c) Lucknow

(d) Mumbai

The "Pusa Krishi Vigyan Mela" is being held in which city?
(a) Mumbai

(b) Lucknow

(c) Bengaluru

(d) New Delhi

‘Which product's necessary certification has recently been
certified by the Centre through a Quality Control Order
(QCO)?

(a) Cotton

(b) Milk

(c) Oil

(d) Jute

‘Which Union Ministry initiated the "Nasha Mukt Bharat
Abhiyaan" initiative?

(a) Minister of Home Affairs

(b) Minister of Law and Justice

(c) Minister of Information and Broadcasting

(d) Ministry of Social Justice & Empowerment

Which state was the organiser of the "Yuva Utsav"
campaign?

(a) Mizoram

(b) Meghalaya

(c) Kerala

(d) Uttar Pradesh

83.

84.

85.

86.

87.

88.

89.

Tea A & deay & Fefaf@a d @ aF a1/3 s a3

8/8?

1. TER 9g # @l S d9reE i 5 & g "MATSYA
6000" arg § i @ @t 3000 Htex hY TERTS Tk JeT
ST

2. 2026 d 7187 QX1 514 i IHIE 81

12 g 7Tq Fe 1 IUTHT ek e IR A

(a) Thaat 1

(b) Thaat 2

(c) 18R 2 g+t

(dyFat1sRadr2

3RTael gRa ar ulaierr & ey 8, fefaf@a § @ o

q1/9 w94 8/8?

1. 21 R & gRa o wifug er ddla vafaRor grerd &1
AT gl

2. gRarom, TowmF, ToRid 3R et @+ 59 uikaiemr &
NIEGE]

fhg 18R & Beret A dex 7 "7 g e fIReR "
& AstarHt 6, 7 ga G Re 7 7 gaifda fasar ar?
sfrege

:ﬂfgg

—_~ o~~~
g
~

forT e & sirasgen THTOfieRRUT ot gTeT 8t | dhe gRT TuTaT
fA=izroT SmreRr (QCO) & mreay @ ywiforg fohar mar €2

(a) U

(b) g

(c) d=t

(d) I

fohT héar T3t = "I Hord R SIS U Y& hi?
(a) 78 =it

(b) g 3R = #3ft

(c) T 3R wERoT #3f

(d) IS =g 3R SrfereRTRar Harerd

"1 ITG" AT T SHTAVSTh i T TS AT?
(a) fAsTRA

(b) FaTe™m
(c) e
(d) IR T

L1y J MAADH

CALL: 0522-4623578

. 9911999187
www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Physical Geography + Environment & Ecology + Economics

+ Budget + March Current Affairs | 14



90.

91.

92.

93.

9.

95.

So which influenza subtype Is "Equine influenza Virus"
another name for a virus?

(a) HsNs

(b) H3Hse

(C) H;Hs

(d) HsHq

Which of the following descriptions of the Konkan 2023
exercise is/are true?

1. Isa yearly bilateral naval drill between the Royal Navy
and the Indian Navy.

2. The exercise was held from 20 to 22 March 2023 off the
Konkan coast in the Bay of Bengal.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statement(s) is/are correct

1. Biome covers a large geographical area while ecosystem
covers a smaller area.

2. All the animals in a biome interact with each other while
all the animals and organisms in an ecosystem do not
interact with each other.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Sometimes the number of species and the population
density of some of the species in the ecotone is much greater
than either community is known as-

(a) Ecological Niche

(b) Habitat Niche

(c) Edge Effect

(d) Ecotone

‘Which of the following statement(s) is/are correct-

1. Gross primary productivity is the amount of food
produced by producers.

2. The loss of energy during the process of gross primary
productivity is known as net primary productivity.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

‘What is the boreal biome also known as?
(a) Taiga biome

(b) Tundra biome

(c) Savana

(d) Tropical rainforest
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91.

92.

93.

94,

95.
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96.

97.

98.

99.

100.

101.

Consider the following statements-

1. The region must contain at least 1500 vascular plants as
endemic and rare species.

2. It should contain 35% or less of its original natural

vegetation.
Which of the above statements is/are the criteria for
Biodiversity Hotspot?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 Nor 2

Which of the following statement(s) is/are correct

1. The area lies between the Bhadra Wildlife Sanctuary
and Yemmedude Tiger Reserve.

2. Ambaraguda is situated between Sharavathi Wildlife
Sanctuary and Someshwara Wildlife Sanctuary.

Select the correct answer from the codes given below

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 Nor 2

What is the johannesburg declaration related to-
(a) Climate change

(b) Sustainable Development

(c) Ozone Layer

(d) Biosafety

Mach the following
List 1 List 2
(A) Quality education 1. SDG7
(B) Zero hunger 2. SDG4
(C) Reduced inequality 3. SDG2
(D) Affordable and clean Energy 4. SDG10
Code

A. B. C D.
@1 2 3 4
(b) 2 4 1 3
(c) 4 2 1 3
d)2 3 4 1

‘Which of the following statement(s) is/are correct

1. The Global Environment Facility is a financial
mechanism.

2. It was established at the 1992 Rio Earth Summit.

3. It is managed by the International Monetary Fund
International.

Select the correct answer from the codes given below

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d1,2,3

Consider the following statements-

1. Areas of water bodies that are deficient in oxygen are
known as anoxic waters.

2. This condition is generally found in areas that have
unrestricted water exchange.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

96.
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98.

99.

100.
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1. ot el & & &5 S siferfis i el g1 &, et
SEEESIGED
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102.

103.

104.

105.

106.

107.

108.

Reproductive capability of living organisms under
environmental conditions is called-

(a) Biotic potential

(b) Nutritional Potential

(c) a and b both

(d) Neither a nor b

The relationship between sucker fish and shark is
considered to be an example of

(a) Mutualism

(b) Commensalism

(c) Parasitism

(d) Predation

Consider the following statements-

1. The Ramsar Convention is an intergovernmental treaty
for the conservation of wetlands.

2. The country with the largest number of Ramsar sites is
the United Kingdom.

3. Wetland day is celebrated every year on 1 February.

Select the correct answer from the codes given below

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

d1,2,3

Which of the following is not a part of the edaphic factors
of the ecosystem?

(a) Soil

(b) Minerals

(c) Topography

(d) Temperature

Consider the following statements:

1. Ernst haeckel was the first to use the word ecology.

2. Eugene Odum first presented the concept of ecosystem.
Select the correct answer from the codes given below

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 Nor 2

With reference to Eutrophication, consider the following
statements-

1. Water diversity decreases.

2. Water toxicity increases.

3. Mainly nitrate and phosphate increase in water.

Select the correct answer from the codes given below

(a) 1 and 2 only

(b) 2 and 3 only

(©) 1,2,3

(d) 3 only

Consider the following statements:

1. Most biodiversity is found in tropical rainforests.

2. Biodiversity increases as we move from pole to equator.
Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

102.

103.

104.

105.

106.

107.

108.
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109.

110.

111.

112.

113.

114.

Biodiversity hotspot in India is-

(1) Himalaya

(2) Sunda land

(3) Western ghat

(4) Indo- Burma

Select the correct answer from the codes given below
(a) 1 and 2 only

(b) 1,2,4 only

(c) All

(d) None of these.

7 priorities have been set in the Union Budget 2023 24
which are called-

(a) Saptang

(b) Saptarishi

(c) Saptapadi

(d) Sapt Tatva

The Vision for 'Amrit Kaal' articulated in the Union Budget
for FY 2023-24 is centred around:

1. Opportunities for Citizens with focus on youth

2. Growth & Job creation,

3. Strong & Stable Macroeconomic Environment

Select the correct answer from the codes given below

(@)1 only (b) 2, 3 only

(c) 3 only (d) All

Arrange the following options in ascending to descending
order according to the allocation of funds in the Union
Budget 2023-24 -

1. Ministry of railway

2. Ministry of defence

3. Ministry of home affairs

4. Ministry of road transport and highways

Code:

(@) 1,2,3,4

(b) 2,3,4,1

(c) 2,4,1,3

(d) 3,4,1,2

Sickle Cell Anaemia Elimination Mission to eliminate

Sickle Cell Anaemia by
(a) 2027 (b) 2037
(c) 2047 (d) 2057

Atma Nirbhar clean plant program will be launched with
an outlay of-

(a) 2200 crore

(b) 1200 crore

(c) 2800 crore

(d) None of These

115. Which fund has been announced to encourage innovation

startup in rural areas in the union budget 2023-2024?
(a) Agriculture promoting fund

(b) Agriculture initiative fund

(c) Agriculture innovation fund

(d) Agriculture accelerator fund

100.

110.

111.

112.

113.

114.

115.
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116.

117.

118.

119.

120.

121.

122.

123.

How many labs for developing applications using 5g
services will be set up?
(a) 800
(c) 100

(b) 250
(d) None of these

Which scheme has been announced in the union budget
(2023-2024) for women to deposit up to 2 lakhs rupees -

(a) Mahila samman savings certificate

(b) Mahila atmanirbhar yojana

(c) Mahila vikas yojana

(d) None of these

According to the union Budget 2023-24, total expenditure
in 2023-24 estimated at

(a) 30 lakh crores

(b) 40 lakh crores

(c) 45 lakh crores

(d) None of these

Under which scheme smartphones and tablets will be
distributed in the Uttar Pradesh budget 2023-24

(a) Deen Dayal Upadhyay Empowerment Scheme

(b) Swami Vivekananda Youth Empowerment Scheme

(c) Lal Bahadur Shastri Empowerment Scheme

(d) Jay prakash Narayan Empowerment Scheme

In the budget 2023-24, The U.P. the government has set a
target of spending how many rupees?

(a) 8.80 lakh crore

(b) 7.69 lakh crore

(c) 6.90 lakh crore

(d) 4.70 lakh crore

In the year 2021-22, what percentage increase was registered
in the Gross State Domestic Product of Uttar Pradesh?

(a) 15.6%

(b) 10.15%

(c) 16.8%

(d) 13.2%

What is the theme of Uttar Pradesh budget 2023- 24?
(a) Atmanirbhar Uttar Pradesh

(b) Digital and Technology

(c) Literate Uttar Pradesh

(d) None of these

Consider the following statements in the context of Uttar

Pradesh Budget 2023-24-

1. At present, two international airports are operational in
Uttar Pradesh.

2. Three more international airports are under
construction.

3. Uttar Pradesh will have five international airports and
16 domestic airports in the coming years.

Select the correct answer from the codes given below

(a) 1 and 2 only (b) 2 and 3 only

(c) 2 only (d) 3 only
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119.

120.

121.

122.

123.
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124.

125.

126.

127.

128.

Consider the following statements in the context of Uttar

Pradesh Budget 2023-24

1. Bundelkhand region will be developed as a model solar
city.

2. Green corridor will be developed in Ayodhya

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Which of the following statement(s) is/are correct

1. To provide free quality education to the children of
labourers in Uttar Pradesh, one residential school has
been established in each division of the state.

2. 490 Gram Panchayat / Urban Warden has been
declared child labour free.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following statements in the context of Uttar

Pradesh Budget 2023-24-

1. it will work to make up a 5 trillion-dollar economy.

2. A target has been set to achieve one trillion dollars in 10
years.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements in the context of Uttar

Pradesh Budget 2023-24-

1. Defence corridor is being set up in Baghelkhand.

2. 5 women Pradeshik armed constabulary battalions are
being formed.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following statements in the context of Uttar

Pradesh Budget 2023-24-

1. State contribution to the country's GDP is more than
8%.

2. The growth rate in GSDP for the financial year 2023-24
has been estimated at 19%.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2
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130.

131.

132.

133.

134.

By what name has the coarse grains been addressed in the
union budget 2023-24?
(a) Shree dharm

(c) Both

(b) Shree Anna
(d) None of these

Consider the following statements

1. Earth has seasons because its axis is tilted and its
revolving motion around the sun.

2. The Earth has an elliptical orbit around our Sun.

Choose the correct answer using the code follow:

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 and 2

In the southern hemisphere, the smallest day of the year
normally occurs in the:

(a) The first half of the month of June

(b) The second half of the month of June

(c) The first half of the month of December

(d) The second half of the month of December

With reference to the mechanism of South West Monsoon

which of the following statements is/are correct?

1. The reversal of winds starts taking place over the Indian
sub-continent during the summer season.

2. The Monsoon winds approach the Indian sub- continent
in two separate branches — the Bay of Bengal and the
Arabian Sea.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following

Retreating Monsoon

1. Retreating monsoon season commences with the
beginning of the withdrawal of the southwest
monsoon.

2. The withdrawal of the Retreating monsoon is gradual.

3. As the monsoon starts retreating towards the south, the
pressure gradient becomes high.

Choose the correct answer using the code follow:

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 1 and 2

(d) All the statements are correct

statements with respect to

Consider the following statements with respect to Clouds.
1. Clouds form when the air is saturated and
cannot hold any more water vapor.
2. Vertical Cloud form by thermal convection
only,
3. Altostratus clouds produce a halo
phenomenon.
Choose the correct answer using the code follow:
(a) Only 1 and 2 (b) Only 2 and 3
(c) Only 2 (d) Only 1
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131.
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133.

134.

el gt 2023-24 § A 3T ) fohg A @ daifdT foran

T 8?
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138.

Consider the following statements with respect to rainfall

1. The rain associated with the passage of a
cyclone or depression and caused by a warm;
moist airmass moving upwards over a colder
heavier air is known as cyclonic or Frontal rain.

2. The descending Wind on the leeward side is
heated adiabatically and is known as Anabatic
Win(D)

3. Conventional rainfall is widespread in tropical
areas between the Tropic of Cancer and the
Tropic of Capricorn.

Choose the correct answer using the code follow:

(a) Only 1 and 2

(b) Only 1 and 3

(c) All statements are correct

(d) Only 2 and 3

Consider the following statements about Cloud Seeding

which is in the news.

1. Cloud seeding is a weather modification
technique that improves a cloud’s ability to
produce rain or snow through Silver Iodide
Aerosols.

2. These nuclei provide a base for snowflakes to
form.

3. Cloud seeding is used all over the world as a
method for enhancing winter snowfall and
increasing mountain snowpack, supplementing
the natural water supplies available to
communities of the surrounding area.

Choose the correct answer using the code follow:

(a) Only 1 and 2

(b) Only 2 and 3

(c) Only 2

(d) All the statements are correct

Consider the following statements related to Cloudburst

1. A rainfall rate that is equal to or more than 200
mm per hour is a cloudburst.

2. Cloudburst is one of the major man-made disasters.

3. Cloudburst occurs mainly in the desert and mountain
ranges.

Choose the correct answer using the code given follow:

(a) Only 1 and 2

(b) Only 3

(c) Only 1 and 3

(d) Only 2

Consider the following statements

1. Northeastern regions and the windward side of
the Western ghats experience an average of 400
cm of annual rainfall.

2. Desert and Semi-desert Regions receive below 50 cm of

rainfall.

‘Which of the above statement is/are correct?

(a) Only 1

(b) Only 2

(c) Both statements are incorrect

(d) Both statements are correct
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OPTIONAL suBjEcTs

Consider the following statements related to Savanna’s type

of climate

1. This climate is also called as Sudan type of climate.

2. The regions of the Savanna climate are
unaffected by low and high-pressure systems in
a year.

3. Savanna type of climate is induced due to the
introduc-tion of wet summer and dry winter ~ seasons.

4. Savanna climate is a transitional belt between humid
equatorial and dry tropical climates.

Which of the above statement is/are correct?

(a) Only 1 and 4

(b) Only 2 and 2

(©) 1,3,and 4

(d) 2,3and 4

‘Which of the following statements about the Indian Ocean

Dipole is/are correct?

1. The primary reason for the dipole is a temperature

difference.

2. A spell of hot, dry weather in Australia has resulted in
a rash of bushfires, which has been induced by the
Indian Ocean Dipole phenomenon.

3. Indian Ocean Dipole’s negative phase is beneficial for

the Indian monsoon.

Answer the questions using the code given follow:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) All of the above
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